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AN FRMSTA L
M HASE MEXABL
gl AZ=EXIIS 2E(ME=XIIB) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
QI M 2T 2 ot 1,292,634 1,357,195 A 64,561
NAasEs d2Xd 2 24,000 21,000 3,000
ASIEXIZ2 28 (M=) 24,000 21,000 3,000
A3 =XIDI 32l 24,000 21,000 3,000
201 Let24dy] 6,000 8,000 A 2,000
02 23=2gHl 6,000 8,000 A 2,000
O[AM&EHI R XYl 6,000
O ZOHQIEHOIAIE HHI 6,000,000& » 14! 6,000
301 et a = 13,000 13,000 0
02 Zet=¢etka 13,000 13,000 0
ONASE FEZ L X3
13,000,000 * 14 13,000
307 21201 A 5,000 0 5,000
11T MISRASEX 5,000 0 5,000
ons3dz24 iy H&s  5,000,000& * 13 5,000
HRas(=oMeXdn) 1,268,634 1,336,195 AB7,561
BEXNE(MISXINZ) 1,268,634 1,336,195 AB7,561
M3 =EXDI=29 1,268,634 1,336,195 AB7,561
602 G Xl 2 1,268,634 1,336,195 AB7,561
01 0IXI 3 1,268,634 1,336,195 AB7,561

OAM&EXJl= WXl= 1,268,634,0008 * 14 1,268,634




